2. In each case, make the letter at the end the subject of the formula.
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2. In each case, make the letter at the end the subject of the formula.
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Mass and Weight Worksheet

F=ma F=mg

R Force F is measured in N '@@ /\l W )

or in the States
Mass is measured in "Qé?-

Acceleration due to gravity is measured in rr) 7/ 5 2 or N / /égr

Sketch a graph of Force vs Mass |

N ;
Force is to mass.
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Sketch a graph of Force vs Acceleration

Force is Mﬂz&i to acceleration.
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Lot m = lkg
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Sketch a graph of Acceleration vs Mass

<
Acceleration is ___ ¢t AL hegmagl 'g, to mass.

Questions:

1) How many atoms are in something determines its ANARAD.

2) How strongly the planet you're on pulls on you is your _,u)-QL/Q/\ﬁ',

3) Your weight will change depending on ,_,(jOU/U \.Q,Oc,aﬂm CO'ALC}[/Q»@CU\Q)‘
4) Your V) never changes despite what planet you go to.

5) Knowing that 1 kg of mass = 2.2 Ibs of weight, find:

N ey

A) Your mass in kilograms.
/58060 x |9
3. b0

i

%/.’5’\-@&'

B) Use this mass to solve for your weight on these other planets.



9)

Planet / Your Mass Gravitational Your Weight
Moon Here (kg) Acceleration Here Here (N)
(mls?)
Earth Fi g > 9.8 303.64
Moon ’,).IS/ X 1.6 [14,99

Sun .9 X o (7 63%. 3

weiter | F[.Y X 259 [ 99.63

Puo | FHY 2 43,399

Forces acting on McRae sitting on a chair:

e

\ 4o,
6) The mass of your new motorcycle is 250 kg. @
What is: BW’CQ %M;
A) Its weigj@n Earth in Newtons? Fj = Mg v @501%1)[9. gr_% ) - A 450t
S
B) Its weight on the moon (in Newtons)? Fﬂ = ”\3 ¥ (073’0/?) (/- [0',7_’)) & l/OO N
<?

C) The mass of your motorcycle on the moon? o? 50 4@8 =M



9)

10)

11)

12)

13)

14)

Somewhere in the Universe you place a 7.5 kg pumpki7n on a spring scale.
If the scale reads 78.4 N, what is the acceleration?ue'to gravity at that location?
) T ——————
J= BN 0.5 m [s3
+.5 o
The weight of a pony standing still on Earth is 1025 N. = Fﬂ ‘ Fj = @_: lOOLSA
A) What is the pony's mass? | O . b Eg =M 3 \3\ LF‘?’Y\/S‘Q

B) What is the size of the normal force (the force pushlng up from the surface) acting on N ’O('[‘("k
C Y oppoate 10Yha
the pony? ( Fﬂ )

C) Where will the pony weigh |ess@upiter, impossible)?

D) Where will the pony have less mass (Moon, Jupiter(impossible)?

In the physics sense, when a person goes on a diet, do they really want to lose weight or
mass? Explain.

MM@O loge atenmo = o naog

i

The general rule is that you will weigh /1 Q4€ on the bigger Planets (like

Jupiter, Saturn etc), and JZ@A)/Q_ § on the smaller planets (like the moon).

What is a “really easy” way to lose weight without losing mass?

Michael lands on a new planet. If his mass is 20. kg and the acceleration due to gravity
\'/ .’ 3
on this planet is 1.56 m/s?, what would his weight be? @ = me {@%)Oogg m )
s&
e Fﬁ =31.3N

Leslie is an astronaut on a new planet. She knows her mass is 70. kg, and she can
calculate her weight on the planet to be 512 N. What is the acceleration due to gravity on

the new planet? Fﬁ—.—ry(ﬂ = w = F+3m

m % T 52

A ball that weighs 4.00 on Earth weighs 19.00 Non a recently discovered planet.

]
/9.00 N = Fj

What is the force of grawty on this new planet?

N\



